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(i) The total direct labour cost

"DONOTWRITEINTHISAREA = = =

(iii) The total variable production overhead cost
(3)
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(iv) The total fixed production overhead cost
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(a) Prepare a cash budget, in columnar format, for each of the three months
September, October and November 2018

Present your budget on this page, and use page 10 for workings.

(14)

P 5 7 4 7 6 A 0 9 2 4

9

Turn over »




VIUSIHLNEILIYM ION.Od

DO NOTWRITE IN:-THIS:AREA

VIYY STHL NEZLIALON 0

DONOTWRITEINTHIS AREA

YIHY SIHENEI LA LON-Od

DONOTWRITEIN-THIS AREA

Workings #or 2(Q)

1.0 2 4

4 7 6 A O

7

P 5

10




_vIWYSIHINIGUMMIONOG

%)
=
o]

5

3
0

e

5%

“DONOTWRITE INTHIS AREA

 DONOTWRITEINTHIS AREA

“DONOTWRITEINTHISAREA =

(b) Explain two additional costs if the company were trading with insufficient cash in
the short term.
(4)

(c) Evaluate Larsson Irvine Ltd’s cash flow.
(5)

(Total for Question 2 = 23 marks)

11

R 000 T Farm over b
P 5 7 4 7 6 A 0 1 1 2 4




VIUSIHLNEILIYM ION.Od

DO NOTWRITE IN:-THIS:AREA

YIUY SIHENEZLIHMNLON:OC

DONOTWRITEINTHIS AREA

YIHY SIHENEI LA LON-Od

DONOTWRITEIN-THIS AREA

o o o aolol g o Wi D O D lololg @ C @
< N0 1A "o 0N 515 P=; \G I=! £
v N N (o) Q|| 0| D QO O ©0 m % || =T Y. O () <
€ <t <O = Oy—N SSANSAIRS: oy C
[e)) LN O N LN o N 00 N |[|— — o
=
<
e
1%
<
=
= W
> v E-A
O E S ¢
oL & L
14°)
5 S g
2 lg 2 s
m ol o ¢
| Cl — d M
a Pyl - =
— o | = p =
..m = + |Mu [, [7s) L|I
D e
cl 19 V| T e ©
o L = c § 1) =
wn ‘S n © O h D n m
ol a = — & -5 ol c 4
r-RIEIRE= o 2| v = 4] 39 g
ST e = i 52 o[0T R
] = = 4 =r © ||C
1S a S| 5 5 ) —Aile) <
O 9 > [e] ©| < ?@own 5 oy = [
Ne] E= = ore U=y 5 TR >
ha S wn s w ¢ c |2 > QO ey u
) = Q %) T S P D H =4 Sie Pl % al
2z o ) Q 2 £ o g & th .an & c [0 @ - -
— e n —_ vy o
15 =G ' = = [ o
& e e S g[8 [w 6 d o g @B ETEENS ¢ 2 g &
E o 5 5 58 O 8¢ £E Bo SRS T & 0
c s v = - I )
5.2 Ik S e g E2 GeS 0 T LT
o — @ m— Y HEN ™ — L
—| oS 15, v} i = = T =" Q@
a M o ~ < & ol 3 [ T m = w G\ S
) Wl e = 3= A - * ot
o = = D q o= T C = AR 4 b=y =
= =g 2 o o 50f ol ERl 55 o |2 iR '
1) ™ [ { = = f = A = P~ AT 1 <5 \ 3 o
c a (o= = (i = oo og Pl D= T o8 v o = 553
oS Q L P
— S
w| = 1O [ U
m

7 4 7 6 A 0 1 2 2 4

5

P

12




SPS

o% XX oY%
SSoOcN 9000005020208
e erenesenes

&) B L ::‘ 000
bt
R

QRRHRRXN
S ateseress

o %%

59

505 s 10

.:.vp).’.
09 10%

KRS

e )
(a) Prepare the following accounts for Period 5.
(i) Raw Materials
(3)
Details $ Details S
(ii) Work-in-progress
(3)
Details $ Details $
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(v) Profit and Loss
(4)
Details $ Details $
(b) Explain two key features of a non-integrated accounting system.

(4)

(Total for Question 3 = 20 marks)
y,
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(ii) raw material purchases budget (total kg and total cost) for Material Gamma
only
(5)

J
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(b) Explain two reasons for preparing budgets.

(Total for Question 4 = 16 marks)

J
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The company is now considering using activity-based costing (ABC) to calculate the

production overhead costs of each product.

The following overhead information is available for the period:

Activities Costs ($) Cost drivers

Inspection 199 200 Number of production runs

Machining 186 600 Number of machine hours

Packaging 99 000 Number of orders

Material handling 198 400 Quantity of material used

Exe Whye Zed

Number of production runs 150 200 250

Number of orders 150 175 225

(b) Calculate, using activity-based costing, the production overhead costs for one

unit of each product. Give your answers to two decimal places.
(10)

....................................................................... )
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(c) Evaluate whether the company should change to activity-based costing.
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(Total for Question 5 = 22 marks)

TOTAL FOR PAPER = 100 MARKS
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